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QUESTION 1

What is 0.04 x 0.03 x 0.2 in terms of percent?

A. 24%

B. 2.4%

C.0.24%

D. 0.024%

E. 0.0024%

Correct Answer: D

The number we\\'re supposed to see in the answers is 4 x 3 x 2 = 24, It fits all answers. The real question is
the decimal of the answer; the basic rule is to add the decimals (2+2+1=5). We want the answer in percent
terms so we need to take two decimals down, overall- 3.

The answer is 24/1000 (3 decimals) = 0.024%

QUESTION 2

Of 70 players on a football team, 37 are throwers. The rest of the team is divided so one third are left-handed and the
rest are right handed. Assuming that all throwers are right handed, how many right-handed players are there total?

A.54
B. 59
C.63
D.71
E. 92
Correct Answer: B

70-37 are the rest. Meaning that 33/3 = 11 are left-handed. The overall number of right handed: 37 + 22 = 59.

QUESTION 3

Two dung beetles start to run simultaneously towards each other when they\\'re 150 feet apart. The first beetle runs at a
speed of 20 feet per minute and the second beetle runs at a speed of 10 feet per minute. At the moment they start
running towards each other a fly leaves the first beetle and flies towards the second one at a speed of 70 feet per
minute, when he gets there he turns around and starts to fly towards the first beetle and so on. What is the total distance
in feet that the fly will travel until the beetles meet?
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A. 250.

B. 200.

C. 300.

D. 350.

E. 400.

Correct Answer: D

The distance between the two beetles is 150 feet; they are running together at a speed of (10 + 20) 30 feet per minute,

therefore it will take them 5 minutes to meet. The fly flies at a speed of 70 feet per minute so he travels a total distance
of 5 x 70 = 350 feet.

QUESTION 4
If (A+B) = 4, (B+C) =9 and (C+D) = 3, what is the value of (A+D)?
A. 16.

B. 2.

E. 8.
Correct Answer: A

Take equation 1 + equation 3 -equation 2 and you\\'ll get 4 + 3 ?9 = -2,

QUESTION 5

Fuel tanker A can fill the underground reservoir in 12 minutes. How long will it take fuel tanker A and fuel tanker B to fill
up the same reservoir together?

1)

The reservoir contains 3000 liters of fuel.

)

Fuel tanker B alone will require the same number of hours to fill the same reservaoir.

A.

Statement (1) BY ITSELF is sufficient to answer the question, but statement (2) by itself is not.

B.
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Statement (2) BY ITSELF is sufficient to answer the question, but statement (1) by itself is not.
C.

Statements (1) and (2) TAKEN TOGETHER are sufficient to answer the question, even though NEITHER statement BY
ITSELF is sufficient.

D.
Either statement BY ITSELF is sufficient to answer the question.
E.

Statements (1) and (2) TAKEN TOGETHER are NOT sufficient to answer the question, requiring more data pertaining to
the problem.

Correct Answer: B

Explanation: Statement (1) is insufficient since the size of the reservoir is irrelevant. Statement (2) is
sufficient since it tells us that the second tanker has the same work rate as the first. So, it will take them
both half the time it took the first tanker alone.

The correct answer is B.
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